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Question: Mark the correct answer.
1)    
(a) 1     	 (b) -1     		 (c) -      		 (d)      		(e) 0  
2)  
(a)1     	 (b) -1     		 (c)       	 (d)     	(e) 0  
3) If   then    
(a)1     	 (b)      	 (c)      	(d)    	(e) 0  
4) If    then     
    	 (b)  	(c) 11   
(d)   	(e) none of these
5) [bookmark: _GoBack]The equation of the tangent to the curve  at is y =
(a) 2 + π                 (b)  π               (c)8 + 2π             (d)                     (e) 1 + 2π
6) The slope of the tangent line to the graph of y = (1 + 4 )(2x) at x =  is
(a) 2 + π                 (b) 4 + π               (c)8 + 2π             (d) 2 − π                     (e) 1 + 2π
7) If y =  , then  =
(a) 2       ( b) 2        (c) −3             (d) -2        (e) 4 
8) If  ,then   where g(x) =
(a) 1           (b) sec x tan x                 (c) sec x             (d) tan x                   (e) −2
9) 
(a)1     	 (b) -1     		 (c)  98	                 (d)  99	                        (e) 100  ]
10) If, then the product  is equal to
(a) −π cos (csc πx).csc πx. cot πx      (b) π     (c) –π    (d) 2sin πx. cos πx      (e) cos (csc πx.cot πx)
11) If a particle is moving according to a law of motion   where t is measured in seconds and S in meters, then the total distance traveled by the particle during the time interval [0, 5] is
(a) 15 meters        (b) 6 meters    (c) 12 meters       (d) 18 meters      (e) 9 meters
12) The volume of a sphere is changing at the rate of   4π /sec. How fast is the diameter of the sphere changing when its volume is? 
(a) cm/sec.           ( b)  cm/sec.         (c)  cm/sec.   (d)  cm/sec.        (e)  cm/sec
